® (51+22)x6

@ (26-3)x8

@® 55-(28-9)

® 99-(12+3)

@ 90-(34-1)
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D 7-3
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@ 222-7
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® 3+3




2 561 x9+61x2 2 AL A} T2 AL o] 79

® 9+2
® 61x(9+2)

® (61+9)x (61 +2)

@ 61x(9-2)

@ (61 x61)+(9+2)






@® 52+ (85 —48) x 2
® 200-(12+4)x6

3 95+32%x3-14

@ (29 +41)x3-53

@ (45-11)x4-110
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6.

50-8x24+10+2

@ (50-8)x2+10+2

@® 50-8x(2+10) +2

@ 50-8x2+(10+2)

® 50-(8%x2)+10=+2

® 50-(8x2+10) =2
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25x4+10+2 =105
30-45+-9=25

@® 30-(45+9)x4+10+2 =105
@ 30-(45+9x4)+10+2 =105
® (30-45+9)x4+10+2 =105
@ 30-45+9% (4+10+2) =105

® (30-45)+9x4+10+2 =105
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75-] J+6+18 =284




